Order #	62511127	Flight Dates	03/19/18 - 03/25/18	Update Date	03/15/18	
Syscode	1283	Agency	Fortune Media	Version	1 Vs. 1	
System Name	Comcast/Glenview Evanston, IL	Advertiser	Iona Salajanu for Judge	Show All Lines	•	
Market	Chicago		-	Total # of Weeks		1
	•	Client Code		Total		\$55.50
AE	Scott Johnson	Product Code		Commission		\$8.33
Sales Coordinato	r Rachel Cohen	Est Code	874	Net Total		\$47.18
Office	Los Angeles	Product Name	Judge	Total Spots		4
Phone	(310) 254-2220	Credit Status		Affiliate Split	100.0	
Status	Not accepted			Sold On	Cost Per Spo	ot
Survey	DMA Nielsen Live+SD Jan18	Primary Demo	Adults 35+	GRP -	GIMP	-
-		Makegood Policy	Approval Required	CPP -	СРМ	-

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	CNN	VARIOUS	3/19/18	3/25/18	09:00	16:00	Х	Х						-	-	2	\$6.75	\$13.50	30	
2	CNN	VARIOUS	3/19/18	3/25/18	19:00	24:00	Х							_	-	2	\$21.00	\$42.00	30	

	Mar 2018	Apr 2018	May 2018	Jun 2018	Jul 2018	Aug 2018	Sep 2018	Oct 2018	Nov 2018	Dec 2018	Jan 2019	Feb 2019	Total
SPOTS	4	0	0	0	0	0	0	0	0	0	0	0	4
AMT	\$55.50	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$55.50

SYSTEM APP	SALES	ACCT	Date Printed 03/16/18

62511127 | Chicago | Comcast/Glenview Evanston, IL | 1283 |

Order #	62511127	Flight Dates	03/19/18 - 03/25/18	Update Date		03/15/18		
Syscode	1734	Agency	Fortune Media	Version		1 Vs. 1		
System Name	Comcast/South Suburban, IL	Advertiser	Iona Salajanu for Judge	Show All Line	es	•		
Market	Chicago		•	Total # of We	eks			1
		Client Code		Total				\$58.00
AE	Scott Johnson	Product Code		Commission				\$8.70
Sales Coordinator	Rachel Cohen	Est Code	874	Net Total				\$49.30
Office	Los Angeles	Product Name	Judge	Total Spots				4
Phone	(310) 254-2220	Credit Status		Affiliate Split		100.0		
Status	Not accepted			Sold On		Cost Per Spo	t	
Survey	DMA Nielsen Live+SD Jan18	Primary Demo	Adults 35+	GRP	-	GIMP	-	
-		Makegood Policy	Approval Required	CPP	-	СРМ	-	

Comments:	

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	CNN	VARIOUS	3/19/18	3/25/18	09:00	16:00	Х	Х						-	-	2	\$5.00	\$10.00	30	
2	CNN	VARIOUS	3/19/18	3/25/18	19:00	24:00	Х							-	-	2	\$24.00	\$48.00	30	

	Mar 2018	Apr 2018	May 2018	Jun 2018	Jul 2018	Aug 2018	Sep 2018	Oct 2018	Nov 2018	Dec 2018	Jan 2019	Feb 2019	Total
SPOTS	4	0	0	0	0	0	0	0	0	0	0	0	4
AMT	\$58.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$58.00

SYSTEM APP	SALES	ACCT	Date Printed	03/16/18

62511127 | Chicago | Comcast/South Suburban, IL | 1734 |

Order #	62511127	Flight Dates	03/19/18 - 03/25/18	Update Date	03/15/18	
Syscode	1796	Agency	Fortune Media	Version	1 Vs. 1	
System Name	Comcast/Chicago Central, IL	Advertiser	Iona Salajanu for Judge	Show All Lines	•	
Market	Chicago		•	Total # of Weeks		
		Client Code		Total		\$13.0
AE	Scott Johnson	Product Code		Commission		\$1.9
Sales Coordinator	Rachel Cohen	Est Code	874	Net Total		\$11.0
Office	Los Angeles	Product Name	Judge	Total Spots		;
Phone	(310) 254-2220	Credit Status		Affiliate Split	100.0	
Status	Not accepted			Sold On	Cost Per Sp	ot
Survey	DMA Nielsen Live+SD Jan18	Primary Demo	Adults 35+	GRP -	GIMP	-
-		Makegood Policy	Approval Required	CPP -	СРМ	-

Comments :	

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	MNBC	MORNING JOE<	3/19/18	3/25/18	05:00	09:00	Χ	Χ							-	1	\$5.00	\$5.00	30	
2	MNBC	VARIOUS	3/19/18	3/25/18	09:00	16:00	Х	Х						-	-	2	\$4.00	\$8.00	30	

	Mar 2018	Apr 2018	May 2018	Jun 2018	Jul 2018	Aug 2018	Sep 2018	Oct 2018	Nov 2018	Dec 2018	Jan 2019	Feb 2019	Total
SPOTS	3	0	0	0	0	0	0	0	0	0	0	0	3
AMT	\$13.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$13.00

SYSTEM APP	SALES	ACCT	Date Printed	03/16/18

62511127 | Chicago | Comcast/Chicago Central, IL | 1796 |

Order #	62511127	Flight Dates	03/19/18 - 03/25/18	Update Date	03/15/18			
Syscode	1797	Agency	Fortune Media	Version	1 Vs. 1	1 Vs. 1		
System Name	Comcast/City North, IL	Advertiser	Iona Salajanu for Judge	Show All Lines				
Market	Chicago			Total # of Weeks			1	
		Client Code		Total		,	\$85.00	
AE	Scott Johnson	Product Code		Commission		\$12		
Sales Coordinator	Rachel Cohen	Est Code	874	Net Total		\$7		
Office	Los Angeles	Product Name	Judge	Total Spots			4	
Phone	(310) 254-2220	Credit Status		Affiliate Split	100.0			
Status	Not accepted			Sold On	Cost Per Sp	ot		
Survey	DMA Nielsen Live+SD Jan18	Primary Demo	Adults 35+	GRP -	GIMP	-		
-		Makegood Policy	Approval Required	CPP -	СРМ	-		

Comments :	

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	CNN	VARIOUS	3/19/18	3/25/18	09:00	16:00	Х	Х							-	2	\$10.50	\$21.00	30	
2	CNN	VARIOUS	3/19/18	3/25/18	19:00	24:00	Х							-	-	2	\$32.00	\$64.00	30	

	Mar 2018	Apr 2018	May 2018	Jun 2018	Jul 2018	Aug 2018	Sep 2018	Oct 2018	Nov 2018	Dec 2018	Jan 2019	Feb 2019	Total
SPOTS	4	0	0	0	0	0	0	0	0	0	0	0	4
AMT	\$85.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$85.00

SYSTEM APP:	SALES	ACCT	Date Printed 03/16/18

62511127 | Chicago | Comcast/City North, IL | 1797 |

Order #	62511127	Flight Dates	03/19/18 - 03/25/18		Update Date		03/15/18		
Syscode	1798	Agency	Fortune Media		Version		1 Vs. 1		
System Name	Comcast/Chicago South, IL	Advertiser	Iona Salajanu for Judge		Show All Line	s	•		,
Market	Chicago		-		Total # of We	eks			1
				Total					
AE	Scott Johnson	Product Code			Commission				\$11.18
Sales Coordinato	or Rachel Cohen	Est Code	874		Net Total	Net Total			\$63.33
Office	Los Angeles	Product Name	Judge		Total Spots				6
Phone	(310) 254-2220	Credit Status			Affiliate Split		100.0		
Status	Not accepted		-		Sold On		Cost Per Spot		
Survey	DMA Nielsen Live+SD Jan18	Primary Demo	Adults 35+		GRP	-	GIMP	-	
-	•	Makegood Policy	Approval Required		CPP	-	СРМ	-	

Comments :	

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	CNN	NEW DAY<	3/19/18	3/25/18	05:00	09:00	Χ	Х						-	-	1	\$7.25	\$7.25	30	
2	CNN	VARIOUS	3/19/18	3/25/18	09:00	16:00	Χ	Х						-	-	2	\$5.75	\$11.50	30	
3	CNN	SITUATION ROOM<	3/19/18	3/25/18	16:00	19:00	Х							-	-	1	\$19.75	\$19.75	30	
4	CNN	VARIOUS	3/19/18	3/25/18	19:00	24:00	Х							-	-	2	\$18.00	\$36.00	30	

	Mar 2018	Apr 2018	May 2018	Jun 2018	Jul 2018	Aug 2018	Sep 2018	Oct 2018	Nov 2018	Dec 2018	Jan 2019	Feb 2019	Total
SPOTS	6	0	0	0	0	0	0	0	0	0	0	0	6
AMT	\$74.50	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$74.50

SYSTEM APP:	_ SALES	ACCT	Date Printed	03/16/18
-------------	---------	------	--------------	----------

62511127 | Chicago | Comcast/Chicago South, IL | 1798 |

Order #	62511127	Flight Dates	03/19/18 - 03/25/18	Update Date)	03/15/18		
Syscode	1849	Agency	Fortune Media	Version		1 Vs. 1		
System Name	Comcast/RCN-Lakefront, IL	Advertiser	Iona Salajanu for Judge	Show All Lin	es			
Market	Chicago		-	Total # of W	eeks			1
		Client Code		Total				\$61.50
AE	Scott Johnson	Product Code		Commission				\$9.23
Sales Coordinator	Rachel Cohen	Est Code	874	Net Total				\$52.28
Office	Los Angeles	Product Name	Judge	Total Spots				4
Phone	(310) 254-2220	Credit Status		Affiliate Split		100.0		
Status	Not accepted			Sold On		Cost Per Spo	ot	
Survey	DMA Nielsen Live+SD Jan18	Primary Demo	Adults 35+	GRP	-	GIMP	-	
-		Makegood Policy	Approval Required	CPP	-	CPM	-	

			_					_												
Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	CNN	VARIOUS	3/19/18	3/25/18	09:00	16:00	Х	Х						-	-	2	\$8.75	\$17.50	30	
2	CNN	VARIOUS	3/19/18	3/25/18	19:00	24:00	Х							-	-	2	\$22.00	\$44.00	30	

	Mar 2018	Apr 2018	May 2018	Jun 2018	Jul 2018	Aug 2018	Sep 2018	Oct 2018	Nov 2018	Dec 2018	Jan 2019	Feb 2019	Total
SPOTS	4	0	0	0	0	0	0	0	0	0	0	0	4
AMT	\$61.50	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$61.50

SYSTEM APP	SALES	ACCT	Date Printed 03/16/18

62511127 | Chicago | Comcast/RCN-Lakefront, IL | 1849 |

Order #	62511127	Flight Dates	03/19/18 - 03/25/18	Update Date)	03/15/18		
Syscode	4081	Agency	Fortune Media	Version		1 Vs. 1		
System Name	Comcast/Chicago City N-NW U-verse, IL	Advertiser	Iona Salajanu for Judge	Show All Lir	es			
Market	Chicago		•	Total # of W	eeks			1
	•	Client Code		Total				\$10.00
AE	Scott Johnson	Product Code		Commission				\$1.50
Sales Coordinator	Rachel Cohen	Est Code	874	Net Total				\$8.50
Office	Los Angeles	Product Name	Judge	Total Spots				4
Phone	(310) 254-2220	Credit Status		Affiliate Spli		100.0		
Status	Not accepted		•	Sold On		Cost Per Spot		
Survey	DMA Nielsen Live+SD Jan18	Primary Demo	Adults 35+	GRP	-	GIMP	-	
_	-	Makegood Policy	Approval Required	СРР	-	СРМ	-	

Comments :	

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	CNN	VARIOUS	3/19/18	3/25/18	09:00	16:00	Х	Χ						ı	-	2	\$1.25	\$2.50	30	
2	CNN	VARIOUS	3/19/18	3/25/18	19:00	24:00	Х							-	-	2	\$3.75	\$7.50	30	

	Mar 2018	Apr 2018	May 2018	Jun 2018	Jul 2018	Aug 2018	Sep 2018	Oct 2018	Nov 2018	Dec 2018	Jan 2019	Feb 2019	Total
SPOTS	4	0	0	0	0	0	0	0	0	0	0	0	4
AMT	\$10.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$10.00

SYSTEM APP:	SALES	ACCT	Date Printed 03/16/18

62511127 | Chicago | Comcast/Chicago City N-NW U-verse, IL | 4081 |

Order #	62511127	Flight Dates	03/19/18 - 03/25/18	U	Jpdate Date		03/15/18		
Syscode	4082	Agency	Fortune Media	V	ersion		1 Vs. 1		
System Name	Comcast/Chicago So-Central U-verse, IL	Advertiser	Iona Salajanu for Judge	s	Show All Lines				
Market	Chicago		•	T	otal # of Wee	ks			1
	•	Client Code		T	otal				\$47.25
AE	Scott Johnson	Product Code		С	Commission				\$7.09
Sales Coordinator	Rachel Cohen	Est Code	874	N	let Total				\$40.16
Office	Los Angeles	Product Name	Judge	T	otal Spots				12
Phone	(310) 254-2220	Credit Status		A	ffiliate Split		100.0		
Status	Not accepted		•	s	old On		Cost Per Spot		
Survey	DMA Nielsen Live+SD Jan18	Primary Demo	Adults 35+	G	SRP .	-	GIMP	-	
-	•	Makegood Policy	Approval Required	С	PP	-	СРМ	-	
Comments :									

Comments :		

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	CNN	NEW DAY<	3/19/18	3/25/18	05:00	09:00	Х	Х						-	-	1	\$2.50	\$2.50	30	
2	CNN	VARIOUS	3/19/18	3/25/18	09:00	16:00	Х	Х						-	-	2	\$2.00	\$4.00	30	
3	CNN	SITUATION ROOM<	3/19/18	3/25/18	16:00	19:00	Х							-	-	1	\$7.25	\$7.25	30	
4	CNN	VARIOUS	3/19/18	3/25/18	19:00	24:00	Х							-	-	2	\$6.25	\$12.50	30	
5	MNBC	MORNING JOE<	3/19/18	3/25/18	05:00	09:00	Х	Х						-	-	1	\$2.25	\$2.25	30	
6	MNBC	VARIOUS	3/19/18	3/25/18	09:00	16:00	Х	Х						-	-	2	\$1.50	\$3.00	30	
7	MNBC	VARIOUS	3/19/18	3/25/18	16:00	19:00	Х							-	-	1	\$5.75	\$5.75	30	
8	MNBC	VARIOUS	3/19/18	3/25/18	19:00	24:00	Х							-	-	2	\$5.00	\$10.00	30	

	Mar 2018	Apr 2018	May 2018	Jun 2018	Jul 2018	Aug 2018	Sep 2018	Oct 2018	Nov 2018	Dec 2018	Jan 2019	Feb 2019	Total
SPOTS	12	0	0	0	0	0	0	0	0	0	0	0	12
AMT	\$47.25	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$47.25

SYSTEM APP:	SALES	ACCT	Date Printed	03/16/18

62511127 | Chicago | Comcast/Chicago So-Central U-verse, IL | 4082 |

Order #	62511127	Flight Dates	03/19/18 - 03/25/18	Update Date	03	/15/18		
Syscode	4085	Agency	Fortune Media	Version	1 \	/s. 1		
System Name	Comcast/Glenview-Evans-HP U-verse, IL	Advertiser	Iona Salajanu for Judge	Show All Lines	•			
Market	Chicago			Total # of Weeks	i			1
	•	Client Code		Total				\$10.00
AE	Scott Johnson	Product Code		Commission				\$1.50
Sales Coordinator	Rachel Cohen	Est Code	874	Net Total				\$8.50
Office	Los Angeles	Product Name	Judge	Total Spots				4
Phone	(310) 254-2220	Credit Status		Affiliate Split	10	0.0		
Status	Not accepted		•	Sold On	Co	st Per Spot		
Survey	DMA Nielsen Live+SD Jan18	Primary Demo	Adults 35+	GRP -	GI	MP	-	
-		Makegood Policy	Approval Required	CPP -	. CF	PM	-	

Comments :	

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	CNN	VARIOUS	3/19/18	3/25/18	09:00	16:00	Х	Х							-	2	\$1.25	\$2.50	30	
2	CNN	VARIOUS	3/19/18	3/25/18	19:00	24:00	Χ								-	2	\$3.75	\$7.50	30	

	Mar 2018	Apr 2018	May 2018	Jun 2018	Jul 2018	Aug 2018	Sep 2018	Oct 2018	Nov 2018	Dec 2018	Jan 2019	Feb 2019	Total
SPOTS	4	0	0	0	0	0	0	0	0	0	0	0	4
AMT	\$10.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$10.00

SYSTEM APP:	SALES	ACCT	Date Printed	03/16/18

62511127 | Chicago | Comcast/Glenview-Evans-HP U-verse, IL | 4085 |

Order #	62511127	Flight Dates	03/19/18 - 03/25/18	UI	Ipdate Date		03/15/18	03/15/18	
Syscode	5888	Agency	Fortune Media	Ve	ersion		1 Vs. 1		
System Name	Comcast/Chicago Southwest, IL	Advertiser	Iona Salajanu for Judge	SI	how All Line	S	-		
Market	Chicago			To	otal # of We	eks			1
	•	Client Code		To	otal				\$39.50
AE	Scott Johnson	Product Code		C	commission				\$5.93
Sales Coordinator	Rachel Cohen	Est Code	874	N	let Total				\$33.58
Office	Los Angeles	Product Name	Judge	To	otal Spots				4
Phone	(310) 254-2220	Credit Status		Af	ffiliate Split		100.0		
Status	Not accepted		•	Sc	old On		Cost Per Spo	t	
Survey	DMA Nielsen Live+SD Jan18	Primary Demo	Adults 35+	G	RP	-	GIMP	-	
-		Makegood Policy	Approval Required	C	PP	-	СРМ	-	

Comments :	

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	CNN	VARIOUS	3/19/18	3/25/18	09:00	16:00	Х	Х						-	-	2	\$5.00	\$10.00	30	
2	CNN	VARIOUS	3/19/18	3/25/18	19:00	24:00	Х							-	-	2	\$14.75	\$29.50	30	

	Mar 2018	Apr 2018	May 2018	Jun 2018	Jul 2018	Aug 2018	Sep 2018	Oct 2018	Nov 2018	Dec 2018	Jan 2019	Feb 2019	Total
SPOTS	4	0	0	0	0	0	0	0	0	0	0	0	4
AMT	\$39.50	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$39.50

SYSTEM APP	SALES	ACCT	Date Printed	03/16/18

62511127 | Chicago | Comcast/Chicago Southwest, IL | 5888 |

Order #	62511127	Flight Dates	03/19/18 - 03/25/18	Update Date	03/15/18			
Syscode	6231	Agency	Fortune Media	Version	1 Vs. 1			
System Name	Comcast/Oak Park, IL	Advertiser	Iona Salajanu for Judge	Show All Lines	•			
Market	Chicago		-	Total # of Weeks	otal # of Weeks			
	Client Code			Total		\$70.00		
AE	Scott Johnson	Product Code		Commission		\$10.50		
Sales Coordinator	Rachel Cohen	Est Code	874	Net Total		\$59.5		
Office	Los Angeles	Product Name	Judge	Total Spots				
Phone	(310) 254-2220	Credit Status		Affiliate Split	100.0	100.0		
Status	Not accepted			Sold On	Cost Per Spo	ot		
Survey	DMA Nielsen Live+SD Jan18	Primary Demo	Adults 35+	GRP -	GIMP	-		
-		Makegood Policy	Approval Required	CPP -	СРМ	-		

Comments :			

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	T	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	CNN	VARIOUS	3/19/18	3/25/18	09:00	16:00	Х	Χ						-	-	2	\$6.00	\$12.00	30	
2	CNN	VARIOUS	3/19/18	3/25/18	19:00	24:00	Х							-	-	2	\$29.00	\$58.00	30	

	Mar 2018	Apr 2018	May 2018	Jun 2018	Jul 2018	Aug 2018	Sep 2018	Oct 2018	Nov 2018	Dec 2018	Jan 2019	Feb 2019	Total
SPOTS	4	0	0	0	0	0	0	0	0	0	0	0	4
AMT	\$70.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$70.00

SYSTEM APP:	SALES	ACCT	Date Printed	03/16/18

62511127 | Chicago | Comcast/Oak Park, IL | 6231 |